Filomat 31:14 (2017), 4613–4618 https://doi.org/10.2298/FIL1714613E



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

The Solution of a Class Functional Equations on Semi-Groups

Iz-iddine EL-Fassi^a, Abdellatif Chahbi^a, Samir Kabbaj^a

^a Department of Mathematics, Faculty of Sciences, Ibn Tofail University, BP 133, Kenitra, Morocco

Abstract. Let *S* be a semi-group, and let $\sigma, \tau \in Antihom(S, S)$ satisfy $\tau \circ \tau = \sigma \circ \sigma = id$. We show that any solutions $f : S \to \mathbb{C}$ of the functional equation

$$f(x\sigma(y)) + f(\tau(y)x) = 2f(x)f(y), \quad x, y \in S,$$

has the form $f = (m + m \circ \sigma \circ \tau)/2$, where *m* is a multiplicative function on *S*.

1. Set Up and Notation

Throughout the paper we work in the following framework: *S* is a semi-group (a set equipped with an associative composition rule $(x, y) \mapsto xy$) and $\sigma, \tau : S \to S$ are two antihomomorphisms (briefly $\sigma, \tau \in Antihom(S, S)$) satisfying $\tau \circ \tau = \sigma \circ \sigma = id$.

For any function $f : S \to \mathbb{C}$ we say that f is σ -even (resp. τ -even) if $f \circ \sigma = f$ (resp. $f \circ \tau = f$), also we use the notation $\check{f}(x) = f(x^{-1})$ in the case S is a group.

We say that a function $m : S \to \mathbb{C}$ is multiplicative, if m(xy) = m(x)m(y) for all $x, y \in S$.

If *S* is a topological space, then we let C(S) denote the algebra of continuous functions from *S* into \mathbb{C} .

2. Introduction

The classical d'Alembert's functional equation is of the form

$$f(x + y) + f(x - y) = 2f(x)f(y), \quad x, y \in \mathcal{G},$$
(1)

where $(\mathcal{G}, +)$ is a group and $f : \mathcal{G} \to \mathbb{C}$ is the unknown function. It is also called the cosine functional equation since $f = \cos$ satisfies (1) in the real-to-real case. Eq. (1) has a long history going back to d'Alembert [4]. As the name suggests this functional equation was introduced by dAlembert in connection with the composition of forces and plays a central role in determining the sum of two vectors in Euclidean and non-Euclidean geometries [6].

²⁰¹⁰ Mathematics Subject Classification. Primary 39B52

Keywords. Functional equation, semi-group, multiplicative function

Received: 27 April; Accepted: 09 May 2016

Communicated by Teresa Alvarez Seco

Corresponding author: Iz-iddine EL-Fassi

Email addresses: izidd-math@hotmail.fr (Iz-iddine EL-Fassi), abdellatifchahbi@gmail.com (Abdellatif Chahbi),

samkabbaj@yahoo.fr (Samir Kabbaj)

In the same year Stetkær in [9] obtained the complex valued solution of the following variant of d'Alembert's functional equation

$$f(xy) + f(\sigma(y)x) = 2f(x)f(y), \quad x, y \in S,$$
(2)

where *S* is a semi-group, σ is an involutive homomorphism of *S*. The difference between d'Alembert's standard functional equation

$$f(xy) + f(\tau(y)x) = 2f(x)f(y), \quad x, y \in S,$$

and the variant (2) is that τ is an antihomomorphism (on a group typically the group inversion). Some information, applications and numerous references concerning (1), (2) and their further generalizations can be found e.g. in [1, 5, 8, 9].

Recently, Chahbi et al. [2] obtained the solution of following functional equation

$$f(x\sigma(y)) + f(\tau(y)x) = 2f(x)f(y), \quad x, y \in S,$$
(3)

where *S* is a semi-group and σ , τ are two homomorphisms of *S* such that $\sigma \circ \sigma = \tau \circ \tau = id$.

The natural question that arises is: "What the solution when we replace homomorphism by anti-homomorphism in equation (3)"?

The main purpose of this paper is to study this question by reformulating this equation as:

$$f(x\sigma(y)) + f(\tau(y)x) = 2f(x)f(y), \quad x, y \in S,$$
(4)

where *S* is a semi-group and $\sigma, \tau \in Antihom(S, S)$ such that $\sigma \circ \sigma = \tau \circ \tau = id$. This equation is a natural generalization of the following new functional equations

$$f(x\sigma(y)) + f(\sigma(y)x) = 2f(x)f(y), \quad x, y \in S,$$
(5)

where (*S*, .) is a semi-group and $\sigma \in Antihom(S, S)$ such that $\sigma \circ \sigma = id$ and

$$f(xy^{-1}) + f(\sigma(y)x) = 2f(x)f(y), \quad x, y \in G,$$
(6)

$$f(x\sigma(y)) + f(y^{-1}x) = 2f(x)f(y), \quad x, y \in G,$$
(7)

$$f(xy) + f(yx) = 2f(x)\check{f}(y), \qquad x, y \in G,$$
(8)

where (*G*, .) is a group and $\sigma \in Antihom(G, G)$ such that $\sigma \circ \sigma = id$. In the case $\check{f} = f$ the functional equation (8) known the symmetrized multiplicative Cauchy equation (see for instance [7] or [8, Theorem 3.21]). By elementary methods we find all solutions of (4) on semi-groups in terms of multiplicative functions. Finally, we note that the sine addition law on semi-groups given in [3, 8] is a key ingredient of the proof of our main result (Theorem 3.2).

3. Solution of the Functional Equation (4)

In this section we obtain the solution of the functional equation (4) on semi-groups. The following lemma will be used in the proof of Theorem 3.2.

Lemma 3.1. Let *S* be a semi-group and $\sigma \in Antihom(S, S)$ such that $\sigma \circ \sigma = id$. If $f : S \to \mathbb{C}$ is a solution of the functional equation

$$f(x\sigma(y)) = f(x)f(y), \quad x, y \in S,$$
(9)

then *f* is a σ -even multiplicative function.

Proof. For all $x, y, z \in S$, we have

$$\begin{aligned} f(x)f(y)f(\sigma(z)) &= f(x)f(yz) = f(x\sigma(yz)) \\ &= f(x\sigma(z)\sigma(y)) = f(x\sigma(z))f(y) = f(x)f(z)f(y), \end{aligned}$$

then *f* is σ -even. And we have

$$f(xy) = f(x\sigma(\sigma(y))) = f(x)f(\sigma(y)) = f(x)f(y),$$

for all $x, y \in S$. \Box

Theorem 3.2. Let *S* be a semi-group and $\sigma, \tau \in Antihom(S, S)$ such that $\sigma \circ \sigma = \tau \circ \tau = id$ (where *id* denotes the *identity map*). The solutions $f : S \to \mathbb{C}$ of (4) are the functions of the form $f = (m + m \circ \sigma \circ \tau)/2$, where $m : S \to \mathbb{C}$ is a multiplicative function such that:

- (i) $m \circ \sigma \circ \tau = m \circ \tau \circ \sigma$, and
- (*ii*) *m* is σ -even and/or τ -even.

If *S* is a topological semi-group and $f \in C(S)$, then $m, m \circ \sigma \circ \tau \in C(S)$.

Proof. We use in the proof similar Stetkaer's computations [9]. Let $x, y, z \in S$ be arbitrary. If we replace x by $x\sigma(y)$ and y by z in (4), we get

$$f(x\sigma(zy)) + f(\tau(z)x\sigma(y)) = 2f(x\sigma(y))f(z).$$
(10)

On the other hand if we replace *x* by $\tau(z)x$ in (4), we infer that

$$f(\tau(z)x\sigma(y)) + f(\tau(zy)x) = 2f(\tau(z)x)f(y) = 2f(y)[2f(x)f(z) - f(x\sigma(z))].$$
(11)

Replacing y by zy in (4), we obtain

$$f(\tau(zy)x) = 2f(x)f(zy) - f(x\sigma(zy)).$$
(12)

It follows from (12) that (11) become

$$f(\tau(z)x\sigma(y)) + 2f(x)f(zy) - f(x\sigma(zy)) = 4f(y)f(x)f(z) - 2f(y)f(x\sigma(z)).$$
(13)

Subtracting this from (10) we get after some simplifications that

$$f(x\sigma(zy)) - f(x)f(zy) = f(y)[f(x\sigma(z)) - f(x)f(z)] + f(z)[f(x\sigma(y)) - f(x)f(y)]$$
(14)

With the notation $f_x(y) := f(x\sigma(y)) - f(x)f(y)$ we can reformulate (14) to

$$f_a(xy) = f_a(x)f(y) + f_a(y)f(x).$$
(15)

This shows that the pair (f_a, f) satisfies the sine addition law for any $a \in S$.

Case 1: If $f_a = 0$ for all $a \in S$, then f satisfies the functional equation (9) by the every definition of f_x . From Lemma 3.1, we see that f is a σ -even multiplicative function. Substituting f into (4), we infer that f is τ -even. This implies that $f = (\varphi + \varphi \circ \sigma \circ \tau)/2$, where $f = \varphi$ is multiplicative.

Case 2: If $f_a \neq 0$ for some $a \in S$ we get from the known solution of the sine addition formula (see for instance [3] or [8, Theorem 4.1]) that there exist two multiplicative functions $\chi_1, \chi_2 : S \to \mathbb{C}$ such that

$$f=\frac{\chi_1+\chi_2}{2}.$$

If $\chi_1 = \chi_2$, then letting $\eta := \chi_1$, we have $f = \eta$. Substituting $f = \eta$ into (4) we get that

$$\eta \circ \sigma + \eta \circ \tau = 2\eta.$$

So $\eta = \eta \circ \sigma = \eta \circ \tau$ (see for instance [8, Corollary 3.19]). Then *f* has the desired form. If $\chi_1 \neq \chi_2$, substituting $f = (\chi_1 + \chi_2)/2$ into (4) we find after a reduction that

$$\chi_1(x)[\chi_1 \circ \sigma(y) + \chi_1 \circ \tau(y) - \chi_1(y) - \chi_2(y)] + \chi_2(x)[\chi_2 \circ \sigma(y) + \chi_2 \circ \tau(y) - \chi_1(y) - \chi_2(y)] = 0$$

for all $x, y \in S$. Since $\chi_1 \neq \chi_2$ we get from the theory of multiplicative functions (see for instance [8, Theorem 3.18]) that both terms are 0, so

$$\begin{cases} \chi_1(x)[\chi_1 \circ \sigma(y) + \chi_1 \circ \tau(y) - \chi_1(y) - \chi_2(y)] = 0\\ \chi_2(x)[\chi_2 \circ \sigma(y) + \chi_2 \circ \tau(y) - \chi_1(y) - \chi_2(y)] = 0 \end{cases}$$
(16)

for all $x, y \in S$. Since $\chi_1 \neq \chi_2$ at least one of χ_1 and χ_2 is not zero. **Subcase 2.1:** If $\chi_2 = 0$, then $\chi_1 \neq 0$. From (16), we infer that

 $\chi_1 = \chi_1 \circ \sigma + \chi_1 \circ \tau.$

Therefore $\chi_1 \circ \sigma = 0$ or $\chi_1 \circ \tau = 0$. In either case $\chi_1 = 0$, because σ and τ are surjective. But that contradicts $\chi_1 \neq 0$. So this subcase is void. The same is true for $\chi_1 = 0$ and $\chi_2 \neq 0$.

Subcase 2.2: $\chi_1 \neq 0$ and $\chi_2 \neq 0$. From (16), we have

$$\chi_1 + \chi_2 = \chi_1 \circ \sigma + \chi_1 \circ \tau = \chi_2 \circ \sigma + \chi_2 \circ \tau.$$

Using $\chi_1 \circ \sigma + \chi_1 \circ \tau = \chi_2 \circ \sigma + \chi_2 \circ \tau$ and the fact that $\chi_1 \neq \chi_2$, we see that $\chi_1 \circ \sigma = \chi_2 \circ \tau$ and $\chi_1 \circ \tau = \chi_2 \circ \sigma$. Thus

$$\chi_2 = \chi_1 \circ \tau \circ \sigma = \chi_1 \circ \sigma \circ \tau.$$

We now use $\chi_1 + \chi_2 = \chi_1 \circ \sigma + \chi_1 \circ \tau$, we get that χ_1 is σ -even or $\chi_1 = \chi_1 \circ \tau$. So we are in the solution stated in the theorem with $m = \chi_1$.

Finally, in view of these cases we deduce that f has the form stated in Theorem 3.2.

The other direction of the proof is trivial to verify. The continuity statement follows from [8, Theorem 3.18 (d)]. \Box

As immediate consequences of Theorem 3.2, we have the following corollaries.

Corollary 3.3. Let *S* be a semi-group and $\sigma \in Antihom(S, S)$ such that $\sigma \circ \sigma = id$ (where *id* denotes the identity map). The solutions $f : S \to \mathbb{C}$ of the functional equation

$$f(x\sigma(y)) + f(\sigma(y)x) = 2f(x)f(y), \quad x, y \in S$$

are the functions of the form f = m, where $m : S \to \mathbb{C}$ is a multiplicative such that m is σ -even.

Proof. It suffices to take $\tau(x) = \sigma(x)$ for all $x \in S$ in Theorem 3.2. \Box

Corollary 3.4. Let G be a group and $\sigma \in Antihom(G, G)$ such that $\sigma \circ \sigma = id$. The solutions $f : G \to \mathbb{C}$ of (7) are the functions of the form $f = (m + \overline{m \circ \sigma})/2$, where $m : G \to \mathbb{C}$ is a multiplicative function such that m is σ -even and/or $m = \overline{m}$.

If *S* is a topological semi-group and $f \in C(G)$, then $m, \overline{m \circ \sigma} \in C(G)$.

Proof. It suffices to take $\tau(x) = x^{-1}$ for all $x \in G$ in Theorem 3.2. \Box

Corollary 3.5. Let G be a group and $\sigma \in Antihom(G, G)$ such that $\sigma \circ \sigma = id$. The solutions $f : G \to \mathbb{C}$ of (6) are the functions of the form $f = (m + \overline{m \circ \sigma})/2$, where $m : G \to \mathbb{C}$ is a multiplicative function such that m is σ -even and/or $m = \overline{m}$.

If *S* is a topological semi-group and $f \in C(G)$, then $m, \overline{m \circ \sigma} \in C(G)$.

4616

Proof. It suffices to take $\sigma(x) = x^{-1}$ and $\tau(x) = \sigma(x)$ for all $x \in G$ in Theorem 3.2. \Box

Corollary 3.6. Let G be a group. The solutions $f : G \to \mathbb{C}$ of (8) are the functions of the form f = m, where $m : G \to \mathbb{C}$ is a multiplicative function such that $\overline{m} = m$.

Proof. It suffices to take $\sigma(x) = \tau(x) = x^{-1}$ for all $x \in G$ in Theorem 3.2. \Box

4. Some Examples of Possible Applications

In this section we give examples of possible applications of the results obtained in Theorem 3.2.

Definition 4.1. Let X and Y be non-empty sets. If $f : X \to \mathbb{C}$ and $g : Y \to \mathbb{C}$ we define $f \otimes g : X \times Y \to \mathbb{C}$ by the formula

$$(f \otimes g)(x, y) := f(x)g(y), \text{ for all } (x, y) \in X \times Y.$$

Definition 4.2. An involutive semi-group is a semi-group S together with an unary operation $* : S \to S, s \to s^*$ satisfying $(s^*)^* = s$ and $(st)^* = t^*s^*$ for all $s, t \in S$.

Corollary 4.3. Let *S* be an involutive semi-group. The solutions $f: S \times S \times S \to \mathbb{C}$ of the functional equation

$$f(s_1t_2, s_2t_1, s_3t_3) + f(t_1s_1, t_3s_2, t_2s_3) = 2f(s_1, s_2, s_3)f(t_1, t_2, t_3),$$
(17)

for $s_1, s_2, s_3, t_1, t_2, t_3 \in S$, are the functions of the form

 $f(s_1, s_2, s_3) = m(s_1 s_2 s_3), \quad s_1, s_2, s_3 \in S,$

where *m* is a multiplicative function on *S* such that $m(s^*) = \lambda m(s)$ for all $s \in S$.

If S is a topological semi-group and $f \in C(S \times S \times S)$, then $m \in C(S)$.

Proof. Let $f : S \times S \times S \to \mathbb{C}$ be a solution of (17). Then f solves (4) with S is an involutive semi-group and σ, τ are defined as follow

$$\sigma(s_1, s_2, s_3) := (s_1^*, s_1^*, s_3^*) \text{ and } \tau(s_1, s_2, s_3) := (s_1^*, s_3^*, s_2^*).$$

So, from Theorem 3.2, we read that f has the form

$$f=\frac{m+m\circ\sigma\circ\tau}{2},$$

where $m : S \to \mathbb{C}$ is a multiplicative function such that:

1. $m \circ \sigma \circ \tau = m \circ \tau \circ \sigma$, and

2. *m* is σ -even and/or τ -even.

Assume first m = 0. Hence f = 0.

Assume next $m \neq 0$. Using Lemma 3.2 in [9], we see that there exist three multiplicative functions m_1, m_2, m_3 on *S* such that $m = m_1 \otimes m_2 \otimes m_3$. The condition (1) becomes

$$m_1(s_3)m_2(s_1)m_3(s_2) = m_1(s_2)m_2(s_3)m_3(s_1)$$
, for all $s_1, s_2, s_3 \in S$.

Since $m \neq 0$, we have $m_1, m_2, m_3 \neq 0$. Then there exists a $\lambda \in \mathbb{C} \setminus \{0\}$ such that $m_1 = \lambda m_2$, but m_1 and m_2 are multiplicative, so $\lambda = 1$ and hence $m_1 = m_2$. Similarly, we can get $m_2 = m_3$. Thus $m_1 = m_2 = m_3$.

Similarly, by the condition (2), there exists a $\lambda \in \mathbb{C} \setminus \{0\}$ such that $m(s^*) = \lambda m(s)$, as m is a multiplicative $\lambda = 1$. This implies that m is σ -even and τ -even. Consequently, we get the correct form of f.

Conversely, simple computations prove that the formula above for f define a solution of (17).

The continuity statement follows from Theorem 3.2 and Lemma 3.2 in [9]. \Box

Example 4.4. For a non-abelian example of a monoid, consider the set of complex 2×2 matrices under matrix multiplication $S = M(2, \mathbb{C})$, and take as anti-homomorphisms

$$\sigma \begin{pmatrix} a & b \\ c & d \end{pmatrix} = J \begin{pmatrix} a & c \\ b & d \end{pmatrix} J^{-1} = \begin{pmatrix} a & -ic \\ ib & d \end{pmatrix}$$
where $J = \begin{pmatrix} 1 & 0 \\ 0 & i \end{pmatrix}$, and
$$\tau \begin{pmatrix} a & b \\ c & d \end{pmatrix} = \begin{pmatrix} a & c \\ b & d \end{pmatrix}.$$

We indicate here the corresponding continuous solutions of (4). We write $Re(\lambda)$ for the real part of the complex number λ .

The continuous non-zero multiplicative functions on S are (see [3, Example 5.6]): $\chi = 1$, or else

$$\chi(X) = \begin{cases} |\det(X)|^{\lambda - n} (\det(X))^n & \text{when } \det(X) \neq 0\\ 0 & \text{when } \det(X) = 0 \end{cases}$$

where $\lambda \in \mathbb{C}$ with $Re(\lambda) > 0$ and $n \in \mathbb{Z}$. Simple computations show that

$$\sigma \circ \tau \left(\begin{array}{c} a & b \\ c & d \end{array} \right) = \left(\begin{array}{c} a & -ib \\ ic & d \end{array} \right)$$

and

$$\tau \circ \sigma \left(\begin{array}{cc} a & b \\ c & d \end{array} \right) = \left(\begin{array}{cc} a & ib \\ -ic & d \end{array} \right).$$

Therefore, any continuous multiplicative function m on $M(2, \mathbb{C})$ *satisfies m* $\circ \sigma = m$ *and m* $\circ \sigma \circ \tau = m \circ \tau \circ \sigma$. *In conclusion, using Theorem 3.2, the non-zero continuous solutions f* : $M(2, \mathbb{C}) \to \mathbb{C}$ *of* (4) *are:*

(1)
$$f = 1$$
; and
(2) $f\begin{pmatrix} a & b \\ c & d \end{pmatrix} = |ad - bc|^{\lambda - n}(ad - bc)^n$, for all $a, b, c, d \in \mathbb{C}$, where λ is a complex number such that $Re(\lambda) > 0$ and $n \in \mathbb{Z}$.

5. Acknowledgement

We wish to express our thanks to the referees for useful comments.

References

(1) (1

- [1] J. Aczél and J. Dhombres, Functional equations in several variables, Cambridge University Press, New York 1989.
- [2] A. Chahbi, B. Fadli and S. Kabbaj, A generalization of the symmetrized multiplicative Cauchy equation, Acta Math. Hungar. vol. 149 (2016) 1–7.
- B. R. Ebanks and H. Stetkær, d'Alembert's other functional equation on monoids with an involution, Aequationes Math. 89 (2015) 187–206.
- [4] J. d'Alembert, Addition au Mmoire sur la courbe que forme une corde tendue mise en vibration, Histoire de l'Académie Royale, (1750) 355–360.
- [5] PL. Kannappan, Functional equations and inequalities with applications, Springer, New York, 2009.
- [6] P. K. Sahoo and Pl. Kannappan, Introduction to Functional Equations, CRC Press, Boca Raton, Fla, USA, 2011.
- [7] H. Stetkær, On multiplicative maps, semi-group Forum, 63 (2001) 466–468.
- [8] H. Stetkær, Functional equations on groups, World Scientific Publishing Co, Singapore (2013).
- [9] H. Stetkær, A variant of d'Alembert's functional equation, Aequationes Math. 89 (2015) 657–662.